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COMMERCE AND ACCOUNTANCY (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attembting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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EYUus—A / SECTION—A
1. FmfaRed y@% g &1 s e 150 wsdt § A

Answer each of the following questions in about 150 words : 10x5=50

(@) 3P4fa (F8vH) e wor sam (wiem) & fig 27

How does sensation differ from perception?

(b) EHIRR AU AREdCwE Yarsil § gen of # gwgE
Explain the major differences between transactional and transformational
leaders.

(c) 3=l e SFIT=IE Wiedl § & wnag i 961 VIR Bt 27
Why do we need to coordinate formal and informal organizations?

(d) enuEh (Afw) @ed f i Be-Fe @ 57

What are the limitations of matrix organization?

(e) UTSATCHF TRl I ST WA & THISIHOT FFO TR GERET Hear 27

How does socialization help in maintaining organizational culture?

2. (a) T # fFa ywr afenfia fen w27 yie we e 2wt et ¥ fife aide 6
o i

How have organizations been defined? Compare different perspectives of
organizations in India and Western countries.

(b) ‘S Ui Afthea v’ FH-F9 @ 87 W ¥ -9 P W gad it g e 27
T IH YEUF HI AT FE B H R TR weg war 27
What are the ‘big five personality traits’? Which one seems to have the biggest
impact on performance? How would the knowledge of these help the manager
in his job?

(c) Tl =% W foRfaa wA I sraenst A wwgmEw)
Explain the phases of developing quality circle.

3. (a) wSter % Ifnion ¥ fymes fugr % fovg ger eEATd FH-F @ §7 e w st
! e T & T 36 IRE F wwgmE)

What are the major criticisms levelled against Herzberg’s two-factor theory of
motivation? Explain its contribution for the better understanding of motivation
at the workplace.

(b) mm%aﬁw%ﬁﬁﬁmﬁwwmaﬁmwaﬁwﬁamww
Hifs|

Examine the different approaches for designing organizational structure.
Evaluate the process involved in it.

(c) WSATHSF THAV fhE ThR FeATens uREdT quT T § firg 27

How does organizational transition differ from organizational change and
renewal?
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4. (o) TSHES TSHITG Fb ICA 27 3EF oRomm ;= AR E? TR T F U W gemE &

(b)

(c)

Why does organizational politics emerge? What are its consequences? Suggest
measures to avoid them. 20

"SR T e el § auihe s SavEsEal 817 39 FO # whaw iR 77
ST J9Tasfieral ! fhg gwr gwifda & 27

“There is a need for integrating individual and organizational goals.” Examine

this statement. How does it affect organizational effectiveness? 20
HiHR JemaeH R fadefe § s Hifvm)
Distinguish between delegation of authority and decentralization. 10

@Uus—B / SECTION—B

5. fr=fafad g% w9 &1 3@ @ 150 vt & R

Answer each of the following questions in about 150 words : 10x5=50
(@) AWE GO AN & 9RgE M arelt anenet it faaea i)
Discuss the problems faced in human resource planning.
(b) 360° wfagfE (Fieas) F Uit wa dimeit # fawr ¥ a9y
Elaborate the merits and limitations of 360° feedback.
(c) ¥Ra # Grfes Harst F gumEt T8 27 3HF FROT H GHTEC)

(@)

(e)

(b)

()

Why is collective bargaining not effective in India? Explain its reasons.

wives fTaem (AnEm) fFa vor snfees faaem @ fim 27

How is voluntary separation different from involuntary separation?

oY 3T % Icdeshal Hfgardl 1 gugmEy|

Explain the productivity implications of labour turnover.

“gliggr, IHIGEAR F FE W GGl H e Sl h wiasgamh F § IgEnh 2 &1
feoaoft i)

“Tests are useful in predicting the failure rather than success of the candidate
on the job.” Comment. 20

yay # Al $t gewiliar % shfucr  augnge) e aifte g s ¥ R game @)

Explain the rationale of workers’ participation in management. Suggest
measures to make it more effective. 20

Yurd # @El o agaan 3 4 "l % g HrEl oA w fean R1 Rdsm A

“Multiplicity of unions has retarded the effective working of trade unions in
India.” Discuss. 10
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7. (a) e PR @ O R WA 27 T ey P % w9 # w1 w0 & fa st e
# vfterr F1 TR e i) ,

What do you mean by a model employer? Critically examine the role of public
enterprises in acting as a model employer. 20

(b) sedaReE ol Pl 9% % A @ et aRmE few B e B e Hiw)

Elucidate the executive development techniques relating to interpersonal and

decision-making skills. 20
() =@ afrrey (i feome) fra yom & fawewm & fa 27
How is job design different from job analysis? 10

8. (@) ‘‘“ne ¥ aNehfire faEl % vaud & < g E—urerd T ST |’ $9 HO 1 e
Hfm| w @, h e gwEsfica & ft geae fifm)
“There are two approaches of managing industrial disputes in an
organization—preventive and curative.” Examine this statement. Also evaluate
their individual effectiveness. 20

(b) ‘T TR A A 9 IR W R e dieh 6 weR g o veR fF e wgg |
a S| 38 HYA i faEEm Fifm)

“An experiment in profit-sharing scheme on a wide scale would be definitely

undertaking a voyage on uncharted seas.” Discuss this statement. 20
(c) T 99 €T F I Hl THHEC
Explain the organs of International Labour Organization. 10
* * *
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